RF @

END

&

INSULATION DROP 6400 & 2400

385 4995

5000

5000 \

¥

45760 0/0 OF STEEL

-®

2000

5000

3C00

5000

5000

RF @

4995

385

60-1334

G\RFE 280’\126 7
TOP GIRT 200C20 ' '
B0-1217

TOP GIRT 200C20
60-12186
C

39-1301
FASCIA POST
(TvP)

A

TOP GIRT 200020
160-1216
(

TOP GIRT 200€20
60—
r

1216

TGP GIRT 200C20
60—
1.0

T0P GRT 200C20

1218 60-1216

0P GIRT 200C20
60-1218

750

60-1301
GIRT 200725

( 60-1302
GIRT_200725

TCP GIRT 200C20
60-1216

TOP GRT 200C20
60-1217

60-1302
GRT 200725

60-1302
GIRT 200725

1_\;
|

o
K>
>
o
K
———

60-1302
GIRT 200725

601302 1
CRT 200725

60-1302
GIRT 200725

=

5966

EAVE HT

1025 1025 1025 860

1025

o
s e

N\

60-1229

60-1228

60-1228

65-1303 601434
/‘ GIRT 200240

Girt 200215

60-1329

-

60-1228

______ |

60-1228

Girt 200215

60=1227

Girt 200215

60-1328

Girt 200215

80-1328

50-1228

N\

60-1228

/

"

€0-1336

750

1150

Gt 200715

60-1328

Girt 2007215

60-1328

LIt ZUJZ

£0-1328

1212

Girt 200217
1 1212

1211
‘160—14361 ’]

703

860

/ C6-T202

06-1203

Girt 200215

Cirt 200725 06-T202

F.0.CLOSURE

L 60-1235
' Gt 20071

— 05-1303
60-1233 TE CLP

Girt 200717 601218

200C20

F3
60-1233
Girt 200717

60—-1222
200C20

-

60-1231

F.0.CLOSURE

60-1221
200C20

06-0200

FFL BASE ANGLE

Girt 200217

60-1222
200C20

PO

80-1323
Girt 200Z15

F2

60-1223
Girt 200215

06-1203 Girt 200215

06-T205 Girt 200715

06-1203

Girt 200715

F.0.CLOSURE

60-1225

Girt 200215

— 05-1303
60-1218 TIE CLIP
200C20
F1 (]

60-1224 |
Girt 200215

60-1221
200C20
60-1223
200C20

200C20

F.0.CLOSURE

F.0.CLOSURE

PO

F2

60-1230

Girt 200215

60-1222
200€20

60-1230
Girt 200215

200C20

160-1222

F.0.CLOSURE

06-1

03

Girt 200715

F2

60-1230
Girt 200215

6012272
200C20

F 0.CLOSURE

06-1203 Girt 200715

F2

60-1230
Girt 200215

601222
POOC20

F.O.CLOSURE

60~1241—
Girt 200215

65-1301

|
|
- |
{
|

i Girt 200725

601242

1025

PO1

~Ji

Girt 2007

60-1232

1025

60-1240
Girt 200217

~ii

Girt 2007

60-1232

1025

60-1221
200C20

Girt 200217
65-1302

06

0200 BASE ANGLE

1025

5368
EAVE HT

CLOSUR
03-181

PVC DOWNSPOUT
BY OTHERS

100

580

400

4000

1000 _| 3200
_fo 200

LEGEND :

F1 — FRAMED OPENING [1000 x 2200]
F2 — FRAMED OPENING [4000 x 4000]
F3 — FRAMED OPENING [3200 x 4000]

P01 PORTAL

BRACING

E TRIM

|
@
5o 3200 _| 500

4000

1
[

1 1o
1[413
w o
IS 8

200

Dt

w
(o
(@]
(@)}
[en)
(=}

4000 5

O
(=}

3

=

WA L L

4000

[
{30/500

F

4000

4000

VoA T

¢ | =

O N @

1000

4100

100

CLOSURE T

o

S \D VALLEY GUTTER 03-1818

:

2700/46-BG33

03-0022
1980/46-NH65

LEAD Tt
03-1022/
03-1251

#M

03-002

"UAMB TRIM
{03-1022

JAMB TI

i
i
|
|
\
|

‘ |

HEAD TRIM
03-0022

600 /454665

JAMB TRIM
03-1022

HEAD TRIM
03-0022

| 1900/6-ME
700/46-45

03-1022;
03-1251

03-1022

HEAD TRIM
03-0022

1000/46-M63

JAMB TRIM
03-1022

HEAD TRIM
03-0022

1000/46-HE65

JAMB TRIM
03-1022
JAMB TRIM
03-1022

|
|
|

HEAD TRIM
03-0022

10004 §

JAMB TRIM

HEAD TRIM
03-0022

03-1022

1000/46-NEBS

HEAD TRIM
03-0022

JAMB TRIM
03-1022

|
|
|
|

5280/46-ND65

|

HEAD TRIM

03-1022/03-1251

PVC DOWNSPOUT
BY OTHERS

?

JAMB Tl
03-102

|

START/END OF SHTG
47mm FROM STEEL LINE

46 PANEL RUNS w/ STD LAP

S

Cw/

D E W A L [

334 LAP @ LAST PANEL )

Q

~r

S e

N G

Pane!l

Panel

TYPE—R, Base Metal
= TYPE—-R, Base Metdl

LAY O U T

@

N

G R |

D

A

STEEL, Thickness
STEEL, Thickness

0.50mm.,
Finish

0.70mm.,

Finish
FROST

FROST
WHITE

NOTE: DOWNSPOUTS TO BE FIELD LOCATED

WHITE
FOR HORIZONTAL PANELS

f——

RIM

03-1815

WALL PANEL —
(FIELD CUuT)

NSIDE FOAM ——

CS—5.5%25/45
SS—5.5x28/50
U @ PANEL MODULE

/F.m SCREW (WS)

CLOSURE i

KEAD TRIM —/

(03-0022)

7 |
—j’\mxmc SCREW (GS)

CS—5.5x25/45
@ 302 O.C

—F.0.CLOSURE

06-1203/03-12C2
\ F.O.CLOSURE FIXING DETAIL

MPORTANT NOTES

Bracing 1is to be

drawings and must
of the building. Do
without the written

installed

not
consent of the

remove any

as per the erection
remain tight during the life
bracing
Engineering

Department at Zamil Steel Buildings Company.

Wall Panels Type
Thickness
Color

(N

Panels are to be

field

TYPE-R
0.5 (STEEL)
FROST

ll

WHITE
cut to suit openings

Trims are provided in Zamil Steel standard lengths.

Trims quantities are provided to cover the whole
length of the trim using 50 mm end laps. Refer
to detail TRE-010 at the roof sheeting plan. If lap
length specified (50mm) is exceeded during erection
then shortage in length may result. If the lap length
is reduced then leakage and appearance problems may

result.

Always cut any excess trim length at the end of

trim line.

Before the

construction of

For downspout locations refer to roof sheeting plan.

blockwork (not by

Zamil Steel), all the flange braces for the rigid
frame columns must be fixed to the sidewall girts.

SITE

STORAGE INSTRUCTIONS

All products are dispatched from our factory in good
condition. To maintain this condition, we recommend
that the bundles of sheets, purlins or channels are
stored 150mm clear of the ground, with a slope of
1:25, to allow for water drainage. Cover the stack
with a waterproof cover, leaving the ends open to

allow for air circulation.

Upon receipt, it is recommended that bundles of
panels be checked. If any water 1s entrapped between
sheets, the sheets should be carefully dried, and
then re-stacked allowing for air circulation.

[t is recommended that panels be installed as soon as
possible after delivery. Extended site storage is not

recommended.

Zamil Steel accepts no responsibility for staining
of Galvanized, Zincalume or Aluminium products,
or deterioration of Painted products due to

incorrect site storage.

For fixing sheeting on all purlin/girt end laps

and on nested purlins/girts, it is recommended
that a 4mm dia hole is pre-drilled before installing
the self-drilling screw. This is a must for stainless

steel screws.

l Sampykkt pann
01 DEC 2008

Byggingafulitriinn i Hes,\..
F.h. Hrélfur S. Gunnlaugsson

/
o) s
n, WET 1, s onsson //%5094&4929

07.06.2008 ISSUED FOR CONSTRUCTION

ASU |

TMM

F.O. TRM

(03-0022)
SUT PANEL THRU
IBS TO EXTEND

TRIM TQ OUT OF
JAMB TRIM)

F.O.TRIM ——+
(03-0274)

INSIDE FOAM
CLOSURE

GIRT / EAVE STRUT

i} Yy
(/wﬁrz
T
\‘ ‘]

) . Lk Ll ./‘»j /
s

WALL PANEL —

BASE ANGLE
(06-0200)

OR £

(06-0201) e

WIDTH

ELEVATION

WALL PANEL —
(FIELD CUuT)

INSIDE FOAM
CLOSURE

HEAD TRIM
(03-0022)

JAMB

FIXING

SCREW (WS) —
CS-5.5x25,/45
SS—5.5x28/50
@ 600 0.0

WALL PANEL

POP RIVET ——/

@ 600 0.C

SECTION-B

SECTION=A

~—JAMB TRIM

FIXING SCREW (WS)
CS-5.5x25/45
SS—5.5x28/50
@ PANEL MODULE

22

F.O. CUP (05-0104)
W/ (2)-M12X35 FNB
TO JAMB & (2)-M12
X35 MSB TO GIRT

JAMB

DETAIL=3

BASE CLIP (05-0111)
W/ (4)-M12X35 FNB
TC JAMB & (2)-M12
X*'00 LG. EXPANSION
ANCHOR BOLT

JAMB

FEASE ANGLE

F.Q.
\N/

X35

DETAIL—-1

CLIP (05-0104

| ,
W/ (4)-M12X35 MS'B\JL

TO HEADER & (2)-M12

GIRT
j

1

A

CLIP (05-0117)
(2)-M12X35 FNB

5%9
P

MSB TO JAMB — ’ '._JAMB

.-

DETAIL=2

(JAMB TO GIRT)

CLIP (05~-0113)
W/ (4)-M12X35mm MSB

F.0. CLIP (05-0117)
W/ (2)-M12X35 FNB
TO HEADER & (2)-M12
X35 MSB TO JAMB

te—F.0. JAMB

@

F.0. HEADER

DETAIL=2

(JAMB TO EAVE STRUT)

WALL FRAMED OPENING (

—

S

T+

"ROM F.F.L) WITH

INGLE SKIN PANELS

(FOE-001)

WALL INSULATION

WALL PANEL

JAMB

AT _PERSONNEL DOOR
F.O.

TRIM ———%'
DOCR JAMB

WALL INSULATION

WALL PANEL

SPACER TRIM—

JAMB TRIM —

F.0. JAMB
AT FRAMED OPENING

DOOR JAMB SECTION

e

WALL PANEL V-‘ |
p

DOUBLE FACE TAPE ——

[ =
HEAD TRIM —+]

=T

N

s
]

WALL INSULATION

—F.0. / DOOR HEADER

/
/]

F.0.

DOOR _HEAD SECTION

1.

SECTION AT F.0./DOOR HEAD & JAMB

(INE-003)

PULL TABS TOGETHER & STAPLE AT APPROX.

=
/
/.

150mm

ON CENTERS ALONG FULL LENGTH AS SHOWN IN FIG. 1.

2. FOLD TABS OVER & STAPLE THRU FOLDED TABS

BETWEEN PREVIOUS STAPLES AS SHOWN IN FIGURE 2.

PREVIOUS
STAPLES

18.05.2008) RE-ISSUED FOR APPROVAL

N

HKS

TMM

127112007 RE-ISSUED FOR APPROVAL

HKS

RMR

O
~J

8.10.07| ISSUED FOR APFROVAL

SAK

RMR

DATE DESCRIFTION

DRN

CHK

DSN

A.
N W |
ZAMIL STEEL
v

ENGINEERING
DEPARTMENT

ZS JOB NO. V7 —D568

BUILDING NO.: (1

PROJECT NAME

c SIBERIA HOUSE

CUSTOMER CHEDINN

JOBSITE LOCATION : HAFNAFIRDI,

ICELAND

FASTENING OF

INSULATION

TABS

INSTRUCTION

(INE-0D7)

DRAWING TITLE

SIDE

WALL FRAMING AND SHEETING EL

T

EVATIONS

{ DRAWING NO.

£07/

CAD RUN DATE :

03-05-2008, AT :

17:33




